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	Reason for change:
	1 The size of compression buffer is configured by upper layer, which is missing in current PDCP specification;

2 The calculation of checksum is described as
 “The checksum is derived from the values of the first 4 bytes and the last 4 bytes in the compression buffer.” 

However it is not completely clear what first and last means.

There could be two understandings:

Understanding 1:

The history buffer in this case has a size of 4k and we read the first 4 bytes of this buffer (after “first”) and the last 4 bytes in the buffer (before “last”).

Understanding 2:
Based on only the valid bytes in the compression buffer, meaning the bytes which were shifted before into the compression buffer
This makes a difference at the beginning were the buffer is not yet completely filled.

We believe understanding 1 is correct understanding and would prefer to make it clear in the specificaiton.


	
	

	Summary of change:
	1 the size of compression buffer is configured by upper layer
2 Clarify
The checksum is derived from the values of the first 4 bytes and the last 4 bytes in the whole compression buffer.
3 Correct Annex B to Annex A

Impact Analysis

Impacted functionality

Functionality related to Checksum
Inter-operability

If the network is implemented according to the CR and the UE is not or vice versa, mismatch in checksum will happen if the network and the UE have differnet understanding on how to calculate checksume..

	
	

	Consequences if not approved:
	Mismatch will happen if the network and the UE have different understanding on how to calculate checksum. 
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	1st Text Proposal Change 


5.11.2
Configuration of UDC

The PDCP entities associated with DRBs can be configured by upper layers [3] to use UDC. If UDC is configured, the UE shall apply UDC compression function (details see subclause 5.11.4) to process the received PDCP SDU from upper layers corresponding to the configured DRB. The size of compression buffer is configured by upper layer via bufferSize.  If pre-defined dictionary is configured by upper layers, the UE shall prefill the configured pre-defined dictionary in the compression buffer upon configuration of UDC. If pre-defined dictionary is not configured by upper layers, UE shall set the compression buffer to all zeros.

	2nd Text Proposal Change 


6.3.23
Checksum

Length: 4 bits

This field contains the validation bits for the compression buffer content: The checksum is calculated by the content of current compression buffer before the current packet is put into buffer.

The checksum is derived from the values of the first 4 bytes and the last 4 bytes in the whole compression buffer. The calculation is described as follows:

-
Each byte is divided into two 4-bit numbers.

-
The 16 4-bit numbers are added together to obtain a sum;

-
The checksum is one's complement of the right-most 4 bits (i.e. 4 LSB) of the sum.

An example of checksum calculation is shown in Annex A.
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